Grade 6 Worksheet

Find the answer. Try the first column without a calculator.

1. 60% of 110 =

2. 50% of 90 =

3. 10% of 10 =

4. 40% of 80 =

5. 80% of 40 =

6. 40% of 35 =

7. 90% of 90 =

8. 25% of 60 =

9. 40% of 20 =

10.25% of 120 =

© Freemathworksheets 2021

11. 75% of 90 =

12.45% of 25 =

13.35% of 75 =

14.55% of 90 =

15.95% of 14 =

16.42% of 46 =

17.23% of 96 =

18.58% of 88 =

19.47% of 144 =

20.39% of 238 =



Grade 6 Worksheet - Answers

Find the answer. Try the first column without a calculator.

1.

60% of 110 = 66

50% of 90 = 45

10% of 10 =1

400/0 Of 80 = 32

80% of 40 = 32

40% of 35=14

90% of 90 = 81

25% of 60 =15

40% of 20 =8

10.25% of 120 = 25
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11. 75% of 90 = 67.5

12.45% of 25 =11.25

13.35% of 75 = 26.25

14.55% of 90 = 49.5

15.95% of 14 =13.3

16.42% of 46 = 19.32

17.23% of 96 = 22.08

18.58% of 88 = 51.04

19.47% of 144 = 67.68

20.39% of 238 = 92.82



